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The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese
1. Answer any ten of the following as directed :

1x10=10
oS e i e webr FotpIR ed w4

fa) What is meant by below poverty line?

o wivmel (393 & g 2
(b) Define democracy.
SIToFq e T |
(¢} Define the term ‘per capita income’.
TR W e e |
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(2)

(d} What is meant by income inequality?

fe)

(9

(h)

()

(k)
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WES Sl Jferce [ e 2

Define incremental capital-output ratio
in the context of Harrod-Domar model.

RIT-T'I WE HyFe IS Teg-Seem
Seefreq el fed |

What is the golden rule in Solow model?

551 W3S e Sife [ 2

Write one characteristic of the poor.

wi%s @1 (I for |

What is meant by technical progress?

Frersre TafS lecel [ 9@ 2

Define natural growth rate.

Frefe [erE 299 ke fr |

What is social institution?

A eg® & e 2

Mention two alternative measures of
development.

TeEers 0! 9w 6 Tewe 4 |

( Continued )

@

(m)

(n)

(o)

)

(@)

(1)
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(3)

What is meant by absolute poverty?

o wlRael e [ 3= e

What is meant by endogenous growth?

srereR R e & 3o ?

Define a political institution.

51 AT SEPI HAH

Mention a measure of growth to study
international variation.

Rarr SRR SREST ToE I IR A
951 5 TeEY 1 |

What is meant by vicious circle of
poverty?

vRweR “eva e & 392

What is the HDI rank of India in UNDP
Human Development Report, 2021-22?

UNDP F T79 Teae afeawe, 2021-229 WS
eEed WM T Tme pe (HDIF ¥W
1 2

What is steady state in Solow model?

vag S e s 2
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2. Answer any five questions very briefly : 2x5=10

(4)

& e #Hwbt epa wf® 5y Teq firan

(@)

{b)

(c)

(d)

(e)

A23/291

What is meant by  knife-edge
equilibrium?

P-4 S Jfercet & @i 2

. Define Gini coefficient.

A sr=srq 1w o |

Mention two differences between growth
and development.

TR S T TS o1 AT TeEy 41

Give two reasons of relative poverty.

weeifirss wiiwerd o1 F9 & |

Mention two non-economic factors
which determine economic develop-
ment.

o - IEE Sme s i
wetAfeF g fAefiad e |

Write two features of modern economic
growth.

wifers SARew R 71 CafiEs for |

( Continued }

(5)

{g) Mention two differences between Harrod
and Domar model of growth.

@C GF ©RE [ WfE Jow qh el
TeEY 91 |

(h) Write two assumptions of Solow’s model
of long-run growth.

e T [ SR g6 SifSarEe o |

(i) Give two examples of government
failure.

b el Y61 THrRae fidl |
(i) What is meant by disinvestment?

s o 1o @2

3. Answer any four of the following questions :
5x4=20

To 2EpTRd R e BiReE e for

fa) Discuss any three problems of
measuring economic development.

gffes Tmm Wems @ e fefn e
ST 9T |
{b) Briefly discuss the factors which

influence economic development of an
underdeveloped country.

G TS (PR AT THe de| [
T AP B S 4 |
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()

(d)

fe)

(9)

(h)
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(6)

Write a note on inequality axioms.

SO FIRE 8oES b1 (G B

Justify per capita income as an index of
economic development.

AT T o Rl Wl S RS
A <40

Discuss the concept of economic
inequality.

TATEE SPTO[R RECE! SCEAbA] 41 |

Discuss the need for balanced regional
development in case of underdeveloped
countries.

SEES AT (Rqe A e Taed
CAIEATS] A I |

Write a short note on rural-urban
economiic gap.

AN S TR WLARST FH 9SGl 5y
Gl fordl |

Explain how democracy and economic
growth are interlinked.

streg e weflafes [Rar v smssiafens,
A 4

{ Continued )

(7))

4. Answer any four of the following questions :

10x4=40

TS erpTER R (pleT Bt Sew fra

(@) Explain the various alternative
measures of economic development.
ST Tagee [fen [ TopTE s 4

(b) Discuss the international variations in

()

(d)

(e)

0
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per capita income (PCI) and human
development index (HDI) measures.

IR W S A S I oW S
S@SAFTY AT T AT |

Compare development  trajectories
across nations and within them.
G e W 159 oqo Sy fSymms
P 91

Explain the construction of the Human
Development Index.

I T SO sifof T |

Discuss the conditions of steady growth
in the context of Solow model.

Ve WY RS e Rere séwm
SO 47 |

Explain endogeneous growth theory.
BN REPT @ 7 04 |
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( 8)

(g) Discuss the 'main features of
Harrod-Domar model of growth.

EIU-TARY RerR WRGE 37 e
STCEe-T <47 |

{h) Explain the technique of Lorenz curve to
measure inequality.
POl T 0T IITS G ([N
EIRIEE I

(}  Explain the role of State institutions in
economic development.

IR SRR (P WA T S
SFCR A T |

(i) - Discuss, in’detail, the consequences of :
corruption in the economy.

4 IS Tt Raere Rewera
[T |
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